N B _——, S h AN AN
HEBBOST IR IYMNR—ILEFHERELFHER (THRUEE)
= 5 R BERBR(FY FE)
o 5/19(1) 5/20(8) 5/27(8)
A B PR RAEE E1EE[13:00~ [FE 1A S| 9:00~ [F 15 E] 9:00~
o BT [ = #2515 10:30~ |5 258 &] 10:30~
CDE E.E]’E—'E*Taﬁsﬁﬁﬁ %3%% 12:00~ %3Eité 12:00~
F4:4 5] 13:30~
E5: 8] 15:00~
* QFIEEH ETO
5/20(8). F1HXADEBHTOXE 2R AEMF— L. TORIZAITF—LTEHTOKITOTTFELY,
5/27(R) =
A— B—
C4 D 5 D5
5/20(H)
C1 D1 E1 c2 D2 E2 C3 3
e | ot ]
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
m = I — xz B A B B B F B B S ES & 0
B R S =) < B R B S o} u B H P E # M
|- D - E B A = n = I A h % H
7 A £ < H B 7~ ) X B R %= 73
WK 174 * & I [ B XK Ef K " A
| & 0 N W = L e
v I b B® E S
5z fi® S
T
5



